Best model for HELP J142626.049+330030.834 at z = 0.328 x*=0.84
OPTx?=0.39 IRx?=3.95 threshold (OPT IR)=10.63 [um]

102
Stellar attenuated
----- Stellar unattenuated
1 —— Dust emission
10 Mm —— AGN emission
= Model spectrum
® Model fluxes
100 \ M oObserved fluxes
>
£ 1071
X
=
[N -
1072 :
qﬁ'\ﬂm--.ﬂﬁ .
1073 S
my:
x
074
1
= ] ==f=(Obs-Mod)/Obs
S ]
ko) ]
G |
 O+=--1f=rtiMNt1-tHFF—-——-y»~------|Fr----=-=-=-=-=========-
o ]
) ]
2 ]
5 ]
© -1 RELRR | R | UL R | T
& 10° 10! 102 103 104

Observed wavelength [um]



